[ Efficiency vs vertpos |
= 0.05

9.045
2
2.0.04
(8]
@.035
=]
$0.03
0.025
0.02
0.015
0.01
0.005E

1.0

Ratio

e

0.95 : :
1072 107 1 2

10 0
TP vertr (cr%)

—=— DQM_original_1000evt

Efficienq —— DQM_fitted4_1000evt

~ 0.05 . . . . .
4% L R

20.04F -l de b
> - . . . . .
8] F H . N N .
@-035:_ """ [ I pttttTYTCTYITCT oo
AR RS 1 N0 S M I
[©] F : N N N N
0.025F bbb
7 SO S 1
0,018+ b
T e

R R ¥ ;;;;';s"""s """"

1.0

Ratio

e

9935~ =20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.0

a>c_).009
5.008
‘:’é 007,
éc’) 006
;,i) 005,
"0.004
0.003
0.002
0.001

J..\QIII

Ratio

=

O 4> 03 4 68 10
Sim. PV z (cm)



	Contents
	Page 1


